
DIVISIONAL TALENT SEARCH EXAMINATION - 2024 FOR DEVIPATAN DIVISION, AYODHYA, BARABANKI, LUCKNOW, GORAKHPURAND BASTI 

TIME: 2 HRS. 

NAME 

FATHER'S NAME 

SCHOOL 

Husctu fT oqiaT-2024 

Each question carries 2 marks. 

DTSE - 2024 

Total No. of questions are 50, Hindi versions from 13to 50 are also given. 

J 

Hindi version from Q. 13to Q. 50 are given 

CATEGORY: JUNIOR (J) - CLASS VI, VII, VIlI 

Please fill your particulars properly on question paper & answer sheet. 

b 

On answer sheet please write your Name & RolI No. 
OnAnswer Sheet Please tick (V) your category. 
Please read the questions carefully. 
No Negative marking for wrong answers. 
Fill the circles in answer sheet properly against 

the correct answers given in a bcd, 
for example. 

C d in this c is the correct answer. 

Do not write anything on question paper. 

" Rough work should be done on a separate sheet. 

MAXIMUM MARKS: 100 
ROLL NO. 

DATE 

hoi 9 HT 50 | 13 50 ygt I f 
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9 13 go 50 T f-31 f 

d 



YO1. 

902. 

903. 

904. 

905. 

Q.6. 

Q.7. 

(#) oft 

() 

() gif& HHI 

() 

() 

() 

() 

() 

(a) 

() 
Who wrote these lines: 

(a) 

(c) 

(a) 

What is the synonym of"Elegant": 

(c) 

W. B. Yeats 

(a) 

Frauklin 

(c) 

"Early to bed and early ofrise makes a man Healthy, Wealthy and Wise" 

Gentle 

Graceful 

at 

(a) 

upon 

() 

[1] 

(a) 

(a) 

(a) 

() 

() 

(a) 

() 

(b) 

(d) 

(b) 

(d) 

0.8. Fill in the blanks with appropriate prepositions. You must not look down....the poor: 

(b) 

Mulkraj Anand 

(d) 

Rabindra Nath Tagore 

Famous 

None of these 

On 

Over 



Q.9. Which is the best alternative to complete the sentence. If I Were 

Minister of India.. 

(a) 
(c) 

y014. 

(a) 

He said, "Alas ! I am undone." 

(b) 

(c) 

Q.10. Find out the correct indirect narration of the following direct speech: 

(a) 

(c) 

(d) None of these 

(a) 

(c) 

(a) 

Q.11. Which one is corect passive voice of the sentence. "Help the poor": 

(c) 

I will help the poor 

Q.12. Who is the writer of "Toa skylark"? 

(r) 

I had helped the poor 

() 

(a) 

(c) 

He told alas that he was undone 

() 

He exclaimed alas that he was undone 

() 

He exclaimed sadly that he was undone 

Let the poor be helped 

Poors should be helped 

Shakespeer 

Q.14. Who is the ChiefMinisterrofGoa? 

Jhon keats 

Lok Sabha Bhawan 

(b) 

Samvidhan Sadan 

(d) 

0.13. The old Parliament Building is new oficially named as: 

Sarvanand Sonowal 
Ram Naik 

[21 

(b) 

(a) 

(b) 

(d) 

(b) 

(a) 

(a) 

(a) 

I would help the po0r 

(b) 

None of these 

(d) 

() 

The Poor shouid be helhg 

Let the poors be helped 

P.B. Shelley 
Franklin 

Lok Sabha Sadan 

Rajya Sabha Bhawan 

Promod Sawant 

Rohan Khante 



Q.15. Which cricketer has recently exceeded SachinTendulkar's record of49 centuries? 

(a) 

9016. 

(c) 

() 

() 

2023? 

(a) 

(c) 

() 

() 

0.16. Who is the recipient of the Dada Saheb Phalke Life time achievement award 

(a) 

(c) 

(a) 
() 

2023: 

Rohit Sharma 

(a) 

Shubhman Gill 

(c) 

() 

() 

Amitabh Bachchan 

Waheeda Rehman 

Women's Shot put 
Women's 10m air pistol 

(b) 

Q.17. In which event did shooter Palak Gulia wona Gold Medal in the Asian games? 

Mumbai 

(d) 

Indore 

(a) 

[3] 

() 

(b) 

(a) 

(a) 

(E) 

(b) 

() 

(a) 

(a) 
218. Which city was awarded the best city prize in India at India Smart City conclave 

(b) 

Virat Kohli 

(d) 

Hardik Pandiya 

(a) 

() 

Shah Ruk Khan 

Salman Khan 

Women's Squash 
Women's 10m Rifle 

New Delhi 

Bengluru 



Q.19. What is the name of Lander Module in Chandrayan-3 mission: (a) 

(c) 

(*) 

U022. 

() 

(a) 

(c) 

(5) 
() 

0.20. How many elements are there in Multimedia: 

(a) 

(c) 

() 

(a) 

(c) 

() 

Luna 

() 

Vikram 

Q.22. 1 N/m 

(a) 

4 

(c) 

2 

4 

2 

0.21. What is the common language of artificial intelligence: Python 
Lisp 

Python 
Lisp 
is the S.I. unit of: 
Forc� 

0.23. The front part of an eye is called: 

Weight 

Iris 

(b) 

Cornea 

(d) 

[4] 

(a) 
() 

(b) 
(d) 

() 

(b) 

(d) 

() 
() 

(b) 

(d) 

(a) 

() 

(b) 

Explorer 

(d) 

Apollo 

3 

3 

5 

Java 

PHP 

Java 

PHP 

Pressure 

Mass 

Pupil 
Retina 



023. 

YO24. 

(a) 

() 

Q.24. Which of these is not a symbol of a circuit element? 

TO26. 

(a) 

Y027. 

(c) 

(aa) 

0.25. Which metal can not be stored in packets? (1) 

(a) 

(c) 

(a) 

() 

(a) 

(c) 

() 

Sodium 

(a) 

Magnesium 

(a) 

Q.27. pH value of blood is: 

Q.26. Which chemicals are used to preserve food stuffs? 

Borax 

Potassium Per magnate 

7.4 

7.4 

(b) 

() 

1.4 

(a) 

1.4 

() 

(5] 

(b) 

(d) 

() 

(b) 

(d) 

() 

(b) 

(d) 

() 

(c) 

(1) 

Calcium 

Zinc 

Sodium benzoate 

None of these 

2.5 

2.5 

(d) 

(a) 

2.7 

2.7 



0.28. The tiny filtering units of kidney are: 

(a) 

(c) 

9030. 

() afs-f 

(a) 

(c) 

() 

(a) 

0.29. Ozone layer depletion is primarily caused due to which of the olowng 

() iÍH 

Ureter 

(a) 

Urethra 

(a) 

Oxygen 

X, y, 3ir 

(c) 

Chloro fluorocarbons 

() 
() 

19 

19 

their difference will be: 

0.30. x,V, and z are prime numbers such that x +y +z=38 then the maximu: 

112 
28 

(b) 

112 

(a) 

28 

(b) 

23 

(d) 

23 

(a) 

() 

(b) 

(a) 

(E) 

() 

Q.31. The ratio of two numbers is 7: 11. Their highest common factor (HCE): 

(c) 

() 

(b) 

Nephron 

(d) 

Bladder 

(a) 
() 

Sulphur 
Carbon Dioxide 

H 

31 

31 

196 

308 

HHqTts (HCF) 28 

196 

308 



32. 

Find the value of y if: 

(a) 

YO33. 

() 

(a) 

(c) 

(r) 

() 

Q.33. The average of odd numbers upto 100 will be: 

(a) 

(c) 

() 

() 

50.5 

50 

(a) 

50.5 

(c) 

50 

60 

70 

60 

70 

(b) 

() 

�00 =343Y-1 

Rs. 22,800 

.0 =343Y-1 

pay for the mobile phone set. 

Rs. 25,000 

(c) 

() 

[7] 

(b) 

Q.34. The selling price of an article is 272. If the value of its profit percentage is three 

times of cost price then what will be the cost price: 

(d) 

(a) 

(E) 

(b) 

(d) 

(a) 

() 

7 

(b) 

7 

(d) 

48 

52 

48 

52 

Q.35. Seema bought a mobile phone set at a discount of 18.5%. Had there been a 

discount of 24% she could have saved an 
additional Rs. l650. How much did she 

80 

80 

9 

(d) 

Rs. 30,000 

() 

Rs. 24450 

49 

49 



() 

() 

Y037. 

(a) 

(c) 

() 

() 

0.36. A can do 50% ofa job in 16 days B can do the th of job in 24 days. In how many 

days can they do ~th of the job by working together: 

(a) 

(c) 

() 

() 
Q.38. If 

(a) 

(c) 

50 22,800 

to0 25,000 

() 

() 

24 days 

18 days 

24 f 

18 f 

250 

Q.37. The sides of a triangle are 12, 16 and 20 then its area will be: 

96 

250 

96 

1 a+-=3 then 
a 

47 

49 

9038. yf a+=3 d a+ 1 

47 

49 

a 

(a) 

a4 

(E) 

[8] 

(b) 

(d) 

() 

(E) 

(b) 

(d) 

(a) 

(b) 

(d) 

o0 30,000 

(a) 

t50 24,450 

(E) 

21 days 

16 days 

21 fe 

16 f 

192 

300 

192 

300 

S1 

54 

51 

54 



Q.39 The height of a cone is 24cm and area of the baseis \54 cmi then curved surface area 

Q40. If 

C 

ofcone will be: 

(2) 

(a) 

(c) 

(a) 

(a) 
(c) 

41. The 

2 

3 

3 

a" 

21 

18 

21 

18 

484 cm 

525 cm 

484 e 

525 

a" x3x 

x3x 

sum of the squares 

33m x 2 

3 2 

3 2 

n 

33m X 23 

() 

-2 

-2 

1 

-27 

-27" 
1 

729 

[9] 

(b) 

(a) 

-| 729 

() 

1:2:4 fhen the difference between greatest and smallest number will be: 

(a) 575 A 

) 2 

(b) 

() 

4 

(a) 

(d) 31 

of 3 natural numbers is 1029 and they are in proportion of 

550 cm 

15 

575 cm 

S50 

15 

31 

find m-n 

YT 1029 1:2:4 ¢ 3quIG l 46T4 

() 4 



Q.42. The north-south extension of India is: 

(a) 25000 km. 

(c) 

() 

() 

(a) 

(c) 

0.43. State Bird of Uttar Pradesh is: 

(*n) 

() 

(a) 

(c) 

(a) 

() 

2933 km. 

Q.44. Yellow revolution is associated with: 

2500 fho 

(a) 

2933 fehfo 

(c) 

House Sparrow 
Saras Crane 

(*) 

Food Grains Production 

() 

Oil seeds production 

Ist April 1935 
26th November 1949 

1 39 1935 

(b) 

26 TeR 1949 

(d) 

(a) 

(u) 

(b) 

(d) 

3214 km. 

3600 km. 

(a) 

() 

[10] 

3214 fehfto 

(b) 

Q.45. When did Reserve Bank of India came into existence: 

(a) 

3600 fto 

Peacock 
Parrot 

() 

() 

(b) 

Milk Production 

(d) 

(a) 

Fish Cultivation 

(a) 

Ist April 1939 
Ist July 19s0 

1 3/À 1939 

1 yls 1950 



H046. 

YO47. 

Q.46. 
The President of India is elected by: 

Q.48. 

9048. 

(d) 

(5) 

(a) 

(a) 

(T) 

(b) 
(c) 

(Er) 

(a) 

Q.47. The right to information act was passed by Parliament in which year: 

(c) 

() 

(a) 

(a) 

(c) 

() 

(1) 

(c) 

Direct Election 

Members of Parliament 

Electoral College 

System of Universal Adult Franchise 

2009 

2006 

2009 

2006 

Benjamin Franklin 

Isaac Neutron 

(a) Mauryan period 

(b) 

The scientist who established that clouds have electrical charge was: 

Gupta period 

(d) 

[11] 

(a) 

() 

(b) 

(d) 

() 

() 

(b) 

2005 

Q.49. The largest Stupa at Sanchi pertains to which period: 

(d) 

2010 

2005 

2010 

James Watt 

None of these 

Kushana period 
Harsh Vardhan period 



(ö) 

9O50. 

() 

Q.50. The day Bhagat Singh, was hanged is observed as Martyrs' day every year on: (a) 

(c) 

() 

() 

13th March 

30th March 

13 HJ 

(a) 

30 H1 

(E) 

(b) 

(d) 

(a) 

(a) 

23rd March 
31st March 

23 HT 

31 H 



NAME 

CATEGORY: Junior (J) 

Q06. 
Q07. OO 
Q08. 

QO9. 

ANSWER SHEET/ 3AR yo 

Q10. 
Q11. OOO0 Q3 

Q37. Q12. OOO0 
Q13. O OOO Q38. 
Q14. OOO0 Q39. 

Q15. OOO0 

ABC D 

Q01. OOOO Q26.OOOO Q51. OO0O Q76.OOO0 

O OO0 Q27.OO00 Q5. 
Q02. 

O Q52. COO00 Q77.OOC 

C Q03. O OO0 Q28. O OOO Q53. OOO0 

Q29. O OO0 Q54. OCOO Q79. OOO 
Q04. O C Q30.OOOO Q55. OOO0 Q80. 
Q05.( Q56.O OO0 Q81. OC 

Q31. OC 
Q32.O OO0 Q57. O OO0 Q82. 

O Q83. OO0O 

Q22. 

Q23. 

A BCD 

Q40. 

Middle (M) 

AB C D 

ROLL NO. 

Q60. OO0 

Q78. 
C 

O Q84. 
O Q85. C 

Q86. ( 

Q62. OO0O Q87. 

O Q63. OOOO Q88 
Q64. OOO0 Q89. 
Q65.O OOO Q90 

A BC D 

OO 

Senior (S) 

Q16. O OOO Q41. O OOO Q66. OOO0 Q91. OO 

Q17. OOO0 Q42. OOOO Q67. OOOO Q92. OO 

Q68. OOO0 Q93. OOOO 
Q43.OOO0 Q68. Q18.O OO0 Q43. 

Q19.OOO0 Q44. OOOO Q69. OO0O Q94. OO( 

Q70. 
Q20.O OOO Q45. O OO0 a7o. OOOO a95. OOOO 

Q21. OOO0 Q46. Q46. OOO0 Q71. OOOO Q96. OOC 

Q47. OOO0 Q72. OOOO Q97. OO 

Q48. OOO0 Q73.OOOO Q98. 

Q24. OOO0 Q49.OOO0 Q74. OOOO Q99.O( 

Q25. OCOO Q50.OOOO a75.OOO0 Q100.OO0 

Q58. O Q33.O OO0 
Q34. O OO0 Q59. O 

Q35. O OO0 Q60. 
Q36. OOOO Q61. 
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